Griven below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R)

Assertion (A): Modern and ICT based teaching support requires some techmical
knowledge on the part of the teacher and learner.

Reasons (R) : Both teachers and learners have to be provided orientation in use of the
various support tools and techniques in an intelligent way.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) iz NOT the correct explanation of (A)
{3) (A) 18 true but (R) 1s false

(4) (A) 1= falze but (R) 1= true
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27 . j e
) Identify the correct order of the following computer storage capacities ranked from largest to

smallest capacity.

(A) 100 GBytes

(B) 10 000 000 000 Bytes
(C) 1TBytes

(D) 1000 000 KBytes

Choose the correct answer from the options given below :
(1) (©), (A (D), (B) (2) (C), (A), (B), (D)

(3) (A), (O). (D). (B) 4) (A). (C). (B). (D)
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28)

Given below are two statements:

Statement I: Search Engines are websites that help a user to zearch for information on

WWW.

Statement I1 : For any search term. Search Engines provide the exact same results to all

In

the users.

the light of the above statements, choose the corrrect answer from the options given

below:

(1)

(2)

(3)

(4)

Both Statement I and Statement II are true

Both Statement I and Statement I are false

Statement I is true but Statement II is false

Statement I 1s false but Statement II is true
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29 With respect to computers, which of the following are random access storage devices?

(A)  Magnetic Tape

(B) Hard Disk
{Cy  Pen Drive

(D) CDROM

Choose the correct answer from the options given below :
(1)  (A). (B) and (C) only (2) (A). (C), and (D) only
(3) (B). (C) and (D) only 4} (A), (B) and (D) only
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(A)

(B)

(©)

(D)

ListI
Computer Terms
Magnetic Tape
Memory Card

Hard Disk

DVD

List IT
Description
(' Used in digital cameras photo printers
and cell phones
(II) Uses laser beam technology to read or
write data

(IIT}) Used for data archival purposes but
must be accessed sequentially

(IV) A set of metal disks mounted on a
spindle

Choose the correct answer from the options given below :
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With respect to Computers, which of the following groups consists of volatile memory only?
(1) RAM and Pen Drive (2) Hard Disk and ROM
3 RAM and Cache (4) Cache and ROM
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27) Identify the correct order of the following INTEL processors in the decreasing order of speed.

(A) 80486
(B) B085
(C) Dual Core

(D) Pentium - ITT

Choose the correct answer from the options given below :
(1 (D). (C). (B). (A) (2) (0). (D). (A). (B)
(3) (C). (D). (B). (A) 4) (B). D). (C). A
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28)

Given below are two statements :

Statement I: TUSB drives are also known as flash drives.

Statement IT : Device used by banks to automatically read those unusual numbers on the
bottom of cheques and deposit ships 1s known as MICR.

In the light of the above statements. choose the correct answer from the options given below:
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false

(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement IT is true
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29)  Which of the following are software?

(A) Adobe

(B) Web browser
(©) Compiler

(D)  Device Driver

Choose the correct statements from above :

(1) (A). (B) and (C) only (2) (B). (C) and (D) only
(3)  (A).(C)and (D) only (4 (A). (B) and (D) only
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List I List II

(Name of Company) (Founder)
(A) Apple Ine. ()  N.R. Naravana Murthy
(B) Microsoft Inc. (I) Steve Jobs
(C) Infosys Ltd. (III) Bill Gates
(D) Airtel (IV) Sunil Bharti Mittal

Choose the correct answer from the options given below :

(1)  (A)-ID), (B)-IV), (C)-1D), (D)D)
(2)  A-av). (B)-d. (C)-aD. (D)«
(3)  A)-aD. (B)-IV), (C)-(D. (D)-IID
4  (A)-ID. (B)-(III). (C)-D). (D)-(IV)
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(1) (A)-(III), (B)-(IV), (C)-(ID), (D)-(I)

(2 (A)-(IV), (B)-(11), (C)-(ID), (D)-(D)

(3) (A)-(ID. (B)-(IV). (O)-(D. (D)-(IIL)

(4) (A)-(ID), (B)-(III), (C)-(I), (D)-(IV)
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